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Jodie is making bracelets for four of her friends. She has 87 beads and makes the
bracelets using an equal number of beads for each one.

a How many beads has each bracelet got?
b How many beads are left over?

Three more of her friends arrive.

Jodie wants to make them bracelets too but she has no more extra beads so she
undoes all the bracelets she made to make new ones.

€ How many beads would each bracelet have now?

d How many beads would be left over?
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Polly buys some birthday presents from a shop.
She spends £19.24 altogether.

She buys three identical bookmarks which cost £3.69 in total.
a How much does each bookmark cost?

b From the money left over she buys two books. Each book has a different price.
What could the two books cost?
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Mrs Daniels the shopkeeper has some special offers.
Amy has noticed that they may not be correct.

Can you explain why?

Cola 36p per can
Or buy 6 cans for £2.20.

Beans 45p per tin
Or buy 12 tins for £5.50.

Biscuits 56p per pack
Or 4 packs for £2.35.
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248 passengers were on a plane journey.

34 had the chicken dinner.
75 had the beef dinner.
45 had the vegetarian dinner.

How many of the passengers didn't have a meal?

,
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David has £25 in his bank account which he has been given for his birthday.
He buys 4 items.

Item 1 costs £2.75
Item 2 costs £3.54
Item 3 costs £1.20
Item 4 costs £6.33

a How much has David spent altogether?

b How much more money would David need to buy a new book costing £11.99?
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Anna wants to buy a new games console at the cost of £249.99.
She gets £7.50 a week pocket money and already has £15.49 in her piggy bank.
How long will it take her to save up for the new games console?




